PH 317 December 9, 2003

Name _________________________________  Box ________

All ('s = (o
From faraday's law show that  for a plane wave   k x Eo = ( Bo
For a good conductor, show that  k = exp(i(/4) (((((), 

Now show that   Eo = exp(-i(/4) (((/((()) Bo

Show that the ratio of energy densities  Wmag/Welec >> 1 for a good conductor at 1 MHz.

Wmag = | Bo|2/(2(),   Welec = (o/2 |Eo|2  , (Cu = 5.7 x 107 SI).

Transmission at normal incidence in a good conductor.
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all B's out of the page



Er
write down Eparallel continuous

write down Hparallel continuous    ( B = (H)

Solve for  Et/Ei

The transmission coefficient T is the ratio of <St> to <Si>, where <S> = 1/2( Re(ExH*)

Show that T = 4/n for a good conductor, and that

T = ((8((o/()

